## RFP RESULTS

## CC2022-17B REBID OF FORESTER CONSULTING SERVICES TO FURNISH A FOREST INVENTORY AND DEVELOP A FOREST STEWARDSHIP PLAN FOR MERCER MEADOWS, TOWNSHIPS OF HOPEWELL AND LAWRENCE

## RFP OPENING DATE: FEBRUARY 7,2023

NUMBER OF RESPONDENTS	2		
NAME OF RESPONDENT	GRACIE& HARRIGAN CONSULTING FORESTERS INC.	DAVEY RESOURCE GROUP, INC.	
ADDRESS	210 MAIN STREET	4 WALTER E. FORAN BLVD, STE 209	
CITY, STATE, ZIP	GLADSTONE, NJ 07934	FLEMINGTON, NJ 08822	
CONTACT	ALEXANDER KELCHNER	SUSAN QUACKENBUSH	
TELEPHONE	908-781-6711	908-988-9676	
FAX	N/A	908-788-6788	
E-MAIL	ALEX@GRACIEHARRIGAN.COM	DRGNJ@DAVEY.COM	
nj savi designation	N/A	N/A	
INSURANCE AND INDEMNIFICATION REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED	
IRAN/RUSSIA CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	
NEW JERSEY BUSINESS REGISTRATION	OK	OK	
STATEMENT OF OWNERSHIP	SIGNED AND DATED	NOT INCLUDED	
EXHIBIT A		INCLUDED	
EMPLOYEE INFORMATION CERTIFICATE	20415 EXPIRES 5.15.2029	66211 EXPIRES 2.15.2025	
REFERENCES	INCLUDED, EVALUATION TEAM TO REVIEW	INCLUDED, EVALUATION TEAM TO REVIEW	
EXTEND BEYOND 60 DAYS	YES	NO	
CONTINUITY OF SERVICES	YES	YES	
PROPOSAL TOTAL	\$ 22,000.00	\$ 49,130.00	
NJ APPROVED FORESTER	YES, AS PER NJ LIST OF APPROVED FORESTER	YES, AS PER NJ LIST OF APPROVED FORESTER	
EXCEPTIONS	NONE	NONE	

CC2022-17B COST PROPOSAL PAGE						
GRACIE& HARRIGAN CONSULTING FORESTERS INC.  Task 1- Mapping, Stand Delineation, Inventory Design						
SENIOR ASSOCIATE FORESTER	\$	189.00	12	\$2,268.00		
Task 2- Field Data Collection, Forest	nventory	Task 1	Lump Sum Subtotal:	\$2,268.00		
Staff Title	inversiory		Total Estimated Hours			
ASSOCIATE FORESTER	\$	189.00	40	\$7,560.00		
			Lump Sum Subtotal:	\$7,560.00		
Task 3: Data Processing, Draft Narrat	ve Forest S	itewardship Pl				
Staff Title			Total Estimated Hours			
ASSOCIATE FORESTER- DATA PROCESSING	\$	189.00	8	\$1,512.00		
ASSOCIATE FORESTER- DRAFT PLAN	\$	189.00	24	\$4,536.00		
	•	Task 3	Lump Sum Subtotal:	\$6,048.00		
Task 4: Draft Revisions & Preparation	of Final For	est Stewardsh				
Staff Title			Total Estimated Hours			
ASSOCIATE FORESTER	\$	189.00	16	\$3,024.00		
		Task 4	Lump Sum Subtotal:	\$3,024.00		
Additional Items				Cost		
NJDEP Natural Heritage Data Report				\$70.00		
Sixteen (16) hours of Professional Fore	ester consu	Itation & mee	tings with MCPC	\$3,030.00		
			PROPOSAL TOTAL:	\$22,000.00		

CC2022-17B COST PROPOSAL PAGE					
	Y RESOURCE GROUP				
Task 1- Mapping, Stand Delineation, Inventory De	_				
Staff Title	Total Estimated Hours				
Principal	2	\$380.00			
NJ State Approved Forester	4	\$704.00			
Sr. Project Manager / Wildlife Biologist	6	\$1,080.00			
Project Manager	8	\$1,200.00			
GIS Specialist	10	\$1,400.00			
Sr. Environ. Scientist	10	\$1,300.00			
Task 1 Lump Sum Subtotal:		\$6,064.00			
Task 2- Field Data Collection, Forest Inventory	·				
Staff Title	Total Estimated Hours				
Principal	1	\$190.00			
Sr. Project Manager / Wildlife Biologist	8	\$1,440.00			
NJ State Approved Forester	16	\$2,816.00			
Project Manager	23	\$3,450.00			
GIS Specialist	7	\$980.00			
Sr. Environ. Scientist	7	\$910.00			
Field Technician	224	\$16,800.00			
•	Task 2 Lump Sum Subtotal:	\$26,586.00			
Task 3: Data Processing, Draft Narrative Forest Ste	wardship Plan				
Staff Title	Total Estimated Hours				
Principal	2	\$380.00			
NJ State Approved Forester	16	\$2,816.00			
Senior Project Manager	16	\$2,880.00			
Project Manager	8	\$1,200.00			
GIS Specialist	10	\$1,400.00			
Sr. Environ. Scientist	10	\$1,300.00			
Field Technician	4	\$300.00			
	Task 3 Lump Sum Subtotal:	\$10,276.00			
Task 4: Draft Revisions & Preparation of Final Fores					
Staff Title	Total Estimated Hours				
NJ State Approved Forester	8	\$1,408.00			
Senior Project Manager	2	\$360.00			
Project Manager	8	\$1,200.00			
	Task 4 Lump Sum Subtotal:	\$2,968.00			
Additional Items	Cost				
NJDEP Natural Heritage Data Report	\$420.00				
Sixteen (16) hours of Professional Forester consulto	ation & meetings with MCPC	\$2,816.00			
	DDODOGAL TOTAL	\$49,130.00			
	PROPOSAL TOTAL:	Ş <del>≈</del> 7,130.00			

		RFP RESULTS				
RFP2023-01 INSURANCE BROKER SERVICES FOR HEALTH BENEFITS FOR THE COUNTY OF MERCER						
	RFP	OPENING DATE: FEBRUARY 7,2023				
NO. OF RESPONDENTS	4					
NAME OF RESPONDENTS	EPIC INSURANCE BROKERS/EDGEWOOD PARTNERS INSURANCE COMPANY	BROWN& BROWN METRO LLC	FOUNDATION RISK PARTNERS CORP DBA FAIRVIEW INSURANCE AGENCY ASSOCIATES	CONNER STRONG & BUCKELEW		
ADDRESS	ONE BLUE HILL PLAZA	56 LIVINGSTON AVENUE	25 FAIRVIEW AVENUE	2 COOPER STREET		
CITY, STATE, ZIP	PEARL RIVER, NY 10965	ROSELAND, NJ 07068-0706	VERONA, NJ 07044	CAMDEN, NJ 08102		
CONTACT	raymond Carlson	COLLEN COYLE	MICHAEL GRAHAM	JOSEPH M. DIBELLA		
TELEPHONE	201-661-2358	973-549-1900	973-857-0870 X 1132	856-552-4618		
FAX	N/A	973-549-1007	973-857-9645	856-206-5388		
E-MAIL	RAY.CARLSON@EPICBROKERS.COM	COLLEEN.COYLE@BBROWN.COM	MGRAHAM@FAIRVIEWINSURANCE.COM	JDIBELLA@CONNERSTRONG.COM		
nj savi designation	N/A	N/A	N/A	N/A		
ADDENDUM NO. 1	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
NJ BUSINESS REGISTRATION	OK	OK	OK	OK		
EEO AFFIRMATIVE ACTION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
EIC/AA302	REQUIRED IF AWARDED	16111 EXPIRES 2.15.24	63176 EXPIRES 6.15.23	4606 EXPIRES 10.15.25		
CONTINUITY OF OPERATION DURING EMERGENCY	YES	YES	YES	YES		
IRAN/RUSSIA CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
QUALIFICATION STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
KEY PERSONNEL INFO	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES		
ANNUAL COST	\$ 24,000.00	\$ 139,000.00	\$ 200,000.00	\$ 235,000.00		